
1

E
xercises

on
O

rganization
�

F
or

a
P

entium
IIprocessor

descriptor
that

contains
a

base
ad

dress
of

00280000
H

,a
lim

it
of

00010
H

,and
G

=1,w
hat

starting
and

ending

locations
are

ad
dressed?

�

C
ode

a
descriptor

that
describes

a
m

em
ory

segm
ent

that
begins

at

location
03000000

H
and

ends
at

location
05F

F
F

F
F

H
.T

his
is

a
data

segm
ent

that
grow

s
upw

ard
in

the
m

em
ory

system
and

can
be

w
ritten,

for

an
80386

Intel
processor

.
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�

If
the

processor
sends

linear
ad

dress
00200000

H
to

the
pa

ging

m
ec

hanism
,

w
hic

h
pa

ging
director

y
entry

is
accessed

and
w

hic
h

pa
g

e

entry
is

accessed.

�

W
hat

is
w

rong
w

ith
a

M
O

V
[B

X
],[D

I]
instruction?

�

W
hat,

if
anything,

is
w

rong
w

ith
M

O
V

A
L,

[B
X

][D
I]

instruction?

�

S
uppose

D
S

=1100
H

,B
X

=0200
H

,LIS
T

=0250
H

,and
S

I=0500
H

,determ
ine

the
ad

dress
accessed

by
each

of
the

follo
w

in
instructions.

a)
M

O
V

LIS
T

[S
I],

E
D

X

b)
M

O
V

C
L,

LIS
T

[B
X

+S
I]

c)
M

O
V

C
H

,[B
X

+S
I]
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�

E
xplain

w
hat

happens
w

hen
P

U
S

H
E

A
X

instruction
is

executed.
A

ssum
e

S
P

=0100
H

and
S

S
=0200

H
.

�

D
evelop

a
sequence

of
instructions

that
cop

y
12

bytes
of

data
from

an

area
of

m
em

ory
ad

dressed
by

S
O

U
R

C
E

into
an

area
of

m
em

ory
ad

dressed

by
D

E
S

T.

�

W
hat

is
w

rong
w

ith
a

M
O

V
C

S
,A

X
instruction?
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�
If

A
X

=1001
H

and
D

X
=20F

F
H

,list
the

sum
and

the
content

of
each

fla
g

register
bit

(C
,A

,
S

,Z
,and

O
)

after
the

A
D

D
A

X
,

D
X

instruction
executes.

�

W
hat

is
w

rong
w

ith
IN

C
[B

X
]

instruction?

�

D
evelop

a
sequence

of
instructions

that
sets

(to
1)

the
rightm

ost
4

bits
of

A
X

,
clears

(to
0)

the
leftm

ost
three

bits
of

A
X

,
and

in
verts

bits
7,8,and

9
of

A
X

.

�

W
hy

are
buffers

required
in

8086-
and

8088-based
system

s?

�

W
hat

tw
o

8086
operations

occur
during

a
bus

cycle?



5

�

B
riefl

y
describe

the
purpose

of
each

T
state

from
T

1
to

T
4.

�

M
odify

the
N

A
N

D
gate

decoder
in

F
igure

10-13
to

select
the

m
em

ory
for

ad
dress

rang
e

D
F

800
H

-D
F

F
F

F
H

.
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�
M

odify
F

igure
10-19

by
re

w
riting

the
PA

L
program

to
ad

dress

B
0000

H
-B

F
F

F
F

H
.

�

M
odify

the
circuit

of
F

igure
10-20

to
select

m
em

ory
locations

68000
H

-6F
F

F
F

H
.


